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André concludes from these two graphs that it is certain that the increase in the average
temperature of the Earth’s atmosphere is due to the increase in the carbon dioxide emission.

Question 1: GREENHOUSE

What is it about the graphs that supports André’s conclusion?

Figure 7. Framework Categorisation for GREENHOUSE Question 1
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Knowledge type Knowledge about science Epistemic

Explaining phenomena Explaining phenomena
Competency scientifically scientifically
Context Environmental, Global Environmental, Global
Cognitive demand Not applicable Medium
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